

**Zeitschrift:** Elemente der Mathematik  
**Herausgeber:** Schweizerische Mathematische Gesellschaft  
**Band:** 29 (1974)  
**Heft:** 2

**Rubrik:** Kleine Mitteilungen

### **Nutzungsbedingungen**

Die ETH-Bibliothek ist die Anbieterin der digitalisierten Zeitschriften. Sie besitzt keine Urheberrechte an den Zeitschriften und ist nicht verantwortlich für deren Inhalte. Die Rechte liegen in der Regel bei den Herausgebern beziehungsweise den externen Rechteinhabern. [Siehe Rechtliche Hinweise.](#)

### **Conditions d'utilisation**

L'ETH Library est le fournisseur des revues numérisées. Elle ne détient aucun droit d'auteur sur les revues et n'est pas responsable de leur contenu. En règle générale, les droits sont détenus par les éditeurs ou les détenteurs de droits externes. [Voir Informations légales.](#)

### **Terms of use**

The ETH Library is the provider of the digitised journals. It does not own any copyrights to the journals and is not responsible for their content. The rights usually lie with the publishers or the external rights holders. [See Legal notice.](#)

**Download PDF:** 29.01.2025

**ETH-Bibliothek Zürich, E-Periodica, <https://www.e-periodica.ch>**

REFERENCES

- [1] G. CHARTRAND and S. F. KAPOOR, *The Square of Every 2-Connected Graph is 1-Hamiltonian*, to appear.
- [2] H. FLEISHNER, *The Square of Every Nonseparable Graph is Hamiltonian*, to appear.
- [3] J. ZAKS, announcement 1(B), Graph Theory Newsletter Vol. 1 (No. 4), 1972 edited by S. F. Kapoor, W.M.U. Kalamazoo, Michigan), p. 7.
- [4] (anonymous) Problem 1, Graph Theory Newsletter, Vol. 1. (No. 2), (1971), p. 3.

## Kleine Mitteilungen

### Proof of a Conjecture of H. Hadwiger

As part of a research problem [2], Hadwiger conjectured that every simple closed curve in  $E^3$  admits a nontrivial inscribed parallelogram. Schnirelman's method [4] [1] leads immediately to the following result:

**Theorem:** *Every simple closed  $C^2$  curve in  $E^3$  admits a nontrivial inscribed rhombus.*

Outline of proof: The statement for plane curves has been proved by Schnirelman [4] [1]. Every simple closed curve in  $E^3$  is homotopic to a plane Jordan curve. If the curve in  $E^3$  is not knotted, the homotopy is in fact an isotopy. If the curve is a knot, it may be deformed into a plane Jordan curve through a  $C^2$ -homotopy  $F(\alpha, t)$ ,  $0 \leq \alpha \leq 2\pi$ ,  $0 \leq t \leq 1$ , for which  $F(\alpha, t_0)$  is a simple closed curve except for finitely many values  $t_0$  for which  $F(\alpha, t_0)$ ,  $0 \leq \alpha \leq 2\pi$ , is a curve with one simple transversal selfintersection. Because of the compactness of the sets involved, a given smooth homotopy can be locally modified to satisfy the given conditions. The parametrization can be chosen so that the Jacobian matrix of  $F$  is nowhere singular. The theorem will be proved if we can show that it holds for all curves  $F(\alpha, t)$ ,  $t_0 \leq t < t_0 + \epsilon$  if it holds for  $F(\alpha, t_0)$ .

By hypothesis, there exist four distinct parameter values  $\alpha_1, \alpha_2, \alpha_3, \alpha_4$  so that for  $F_i = F(\alpha_i, t_0)$  we have

$$|F_1 - F_2| = |F_2 - F_3| = |F_3 - F_4| = |F_4 - F_1| (\neq 0) \tag{1}$$

$$\det (F_1 - F_2, F_1 - F_3, F_1 - F_4) = 0$$

where  $\det$  denotes the determinant. The problem is to find four points  $F_i^*$  on  $F(\alpha, t)$ ,  $t_0 \leq t \leq t_0 + \epsilon$ , that also satisfy conditions (1). We develop in a Taylor polynomial,

$$F_i^* = F_i + \frac{\delta F_i}{\delta x_i} \Delta \alpha_i + \frac{\delta F_i}{\delta t} \Delta t + o(\Delta \alpha_i, \Delta t)$$

introduce the expression in (1) and develop as well. An appropriate form of the inverse function theorem says that under our differentiability assumptions the  $\Delta \alpha_i$  can be found if the linearized problem obtained by putting all  $o(\Delta \alpha_i, \Delta t) = 0$ , can be solved. From (1) one obtains a system of four nonhomogeneous linear equations (that can immediately be written down) for the four unknowns  $\Delta \alpha_i$  ( $i = 1, 2, 3, 4$ ). The matrix of the system has the form

$$\begin{bmatrix} \varphi_{12} & -\varphi_{21} + \varphi_{23} & -\varphi_{32} & 0 & - \\ 0 & \varphi_{23} & -\varphi_{32} + \varphi_{34} & -\varphi_{43} & \\ -\varphi_{14} & 0 & \varphi_{34} & -\varphi_{43} + \varphi_{41} & \\ \mu_1 & \mu_2 & \mu_3 & \mu_4 & \end{bmatrix}$$

where

$$\varphi_{ij} = |F_i - F_j|^{-1} \left( \frac{\delta F_i}{\delta \alpha_i}, F_j \right)$$

and the  $\mu_i$  are determinant expressions derived from the last equation (1). Parentheses denote the euclidean scalar product. In the generic case, the rank of the matrix is 4 and, therefore, the problem has a unique solution. A dimension argument [4, 1 p. 107] shows that the curves for which a rhombus can be found for  $t_0 \leq t < t_0 + \varepsilon$  are dense in the space of all  $C^2$  curves. A standard convergence argument then shows that the prolongation property is true for all curves in question. We are not concerned with uniqueness since all plane  $C^2$  Jordan curves admit a one-parameter family of rhombuses [4]. It is clear that the deformation of a nondegenerate rhombus will yield a nondegenerate rhombus since otherwise the curvature of the curve cannot be bounded, see [1] p. 109. The argument breaks down if  $F(\alpha, t)$  has a double point. However, since the intersection is transversal, a plane through two points of  $F(\alpha, t_0)$  that are close to the double point of  $F(\alpha, t)$  and whose parameter values are close to one another, will intersect the other arc passing close to the double point at most in one point close to that double point. Therefore, the rhombus inscribed in  $F(\alpha, t)$  cannot have edges of length zero.

The method of proof is very powerful for this kind of problem. In a recent dissertation [5], a student of mine, Mrs. Tropper, has used the method to prove, among other things, the following:

For  $n \geq 3$ , there are infinitely many regular crosspolytopes (for  $n = 3$ , regular octahedra) inscribed in any surface  $C^2$ -diffeomorphic to the sphere  $S^{n-1}$  in  $E^n$ .

$n$  chords inscribed in a convex hypersurface in  $E^n$  are said to form an  $n$ -uple of conjugate diameters if support planes at the endpoints of one chord parallel and parallel to the directions of the  $n - 1$  other chords of the  $n$ -uple. For  $n = 2$ , the existence of conjugate diameters has been proved by Heil and Krautwald [3]. The result of [5] is:

Every convex hypersurface in  $E^n$ ,  $n \geq 3$ , admits infinitely many distinct  $n$ -uples of conjugate diameters.

Research partially supported by NSF Grant GP-27960

H. Guggenheimer, Polytechnic Institute of New York

#### REFERENCES

- [1] H. GUGGENHEIMER, *Finite sets on curves and surfaces*, Isr. J. Math. 3, 104-112 (1965).
- [2] H. HADWIGER, *Ungelöste Probleme, Nr. 53*, *El. Math.* 26, 58 (1971).
- [3] E. HEIL und W. KRAUTWALD, *Konjugierte Durchmesser und extremale Vierecke konvexer Bereiche*, *El. Math.* 24, 97-120 (1969).
- [4] L. G. ŠNIREL'MAN, *O nekotoryh geometričeskikh svoistvah zamknutih krivyh*, *Uspehi Math. Nauk* 10, 34-44 (1944)
- [5] E. B. TROPPER, *Properties of inscribed polytopes*, Dissertation Polytechnic Institute of Brooklyn, 1972 (University Microfilms).

### A Note on a Problem in the Theory of Sequences

1. **Introduction.** It is a well-known fact in analysis that the existence of

$$\lim_{n \rightarrow \infty} \sum_{k=1}^n a_k \tag{1}$$

is sufficient to imply  $\lim_{k \rightarrow \infty} a_k = 0$ . That condition (1) is not a necessary condition is illustrated by the sequence  $a_k = 1/k$ . It is only reasonable, therefore, to try to find conditions weaker than (1) that would guarantee  $\lim_{k \rightarrow \infty} a_k = 0$ . The aim of this paper is to present a theorem giving one such condition, namely:

**Theorem 1.** *Let  $(a_k)$  be a sequence of complex numbers, such that*

$$\lim_{n \rightarrow \infty} \sum_{k=[\lambda n]+1}^n a_k \tag{2}$$

*exists for every fixed  $\lambda \in (0, 1)$ . Then  $\lim_{k \rightarrow \infty} a_k = 0$ .*

It should be noted that the existence of limit (2) for a single  $\lambda \in (0, 1)$  is generally not sufficient to guarantee that the sequence  $(a_k)$  converges to zero. This can be seen, for instance, by choosing  $\lambda = 1/2$  and considering the sequence  $(a_n)$  defined as follows:

$$a_n = \begin{cases} 1 & \text{if } n = 2^m \\ -1/2^{m-1} & \text{if } n = 2^m + 2j + 1, \quad j = 0, \dots, 2^{m-1} - 1 \quad (m = 1, 2, \dots) \\ 0 & \text{if } n = 2^m + 2j, \quad j = 1, \dots, 2^{m-1} - 1 \end{cases}$$

The sequence  $(a_n)$  clearly does not converge to zero. On the other hand, if  $n = 2^m + 4j$  or  $n = 2^m + 4j + 3$ , where  $j = 0, \dots, 2^{m-2} - 1$ , it is easy to prove that

$$\sum_{k=[n/2]+1}^n a_k = 0 \quad \text{for } n \geq 2.$$

Using this result, we can easily deduce that

$$\left| \sum_{k=[n/2]+1}^n a_k \right| = 1/2^{m-1}$$

if  $n = 2^m + 4j + 1$  or  $n = 2^m + 4j + 2$ , where  $j = 0, \dots, 2^{m-2} - 1$ . Hence

$$\left| \sum_{k=[n/2]+1}^n a_k \right| \leq 4/n \rightarrow 0 \quad (n \rightarrow \infty).$$

In fact, for any integer  $k > 2$ , we can define a sequence  $(a_n)$  such that (2) holds for  $\lambda = 1/k$ , but  $\lim_{n \rightarrow \infty} a_n \neq 0$ . The sequence  $(a_n)$  defined as follows has these properties:

$$a_n = \begin{cases} k - 2 & \text{if } n = k^m \\ -1 & \text{if } n = k^m q, \quad 2 \leq q \leq k - 1 \quad (m = 1, 2, \dots) \\ 0 & \text{if } n = k^m q + r, \quad 1 \leq q \leq k - 1 \quad \text{and} \quad 1 \leq r \leq k^m - 1 \end{cases}$$

In this case, it can be verified that

$$\sum_{j=[n/k]+1}^n a_j = 0 \quad \text{for } n \geq k.$$

The situation is quite different if we consider irrational numbers in  $(0,1)$ , as the following theorem shows.

**Theorem 2.** *Let  $(a_n)$  be a sequence of complex numbers such that (2) is true for  $\lambda = \xi$  and  $\lambda = 1 - \xi$ , where  $\xi$  is an irrational number in  $(0,1)$ . Then  $\lim_{n \rightarrow \infty} a_n = 0$ .*

Theorem 1 is clearly a corollary of Theorem 2.

We might mention here that Theorem 1 has an application in the theory of regularly varying sequences, and it was in the context of a problem in this field that Theorem 1 was formulated (see [1]).

Some questions unresolved in this paper are the following: What can be said about the sequence  $(a_n)$ , if (2) is true for

- (1) two or more distinct *rational* numbers in  $(0, 1)$ ?
- (2) every *rational* number  $\lambda \in (0, 1)$ ?
- (3) a single *irrational* number  $\xi \in (0, 1)$ ?

2. *Proof of Theorem 2.* The proof of Theorem 2 is based on the following number-theoretic result:

**Lemma.** *Let  $\lambda \in (0, 1)$  and let  $n$  be an integer. Then at least one of the following three statements is true:*

- (i)  $[\lambda n] = \lambda n$
- (ii)  $[\lambda n] = [\lambda(n-1)]$
- (iii)  $[(1-\lambda)n] = [(1-\lambda)(n-1)]$

*Proof.* Since  $[\lambda n] \leq \lambda n < [\lambda n] + 1$ , we can write

$$\lambda n = [\lambda n] + \varrho \tag{3}$$

where  $0 \leq \varrho < 1$ . If  $\varrho = 0$ , then (i) is true. Therefore, we can assume  $0 < \varrho < 1$ . If  $\lambda \leq \varrho$ , then, by (3),

$$\lambda(n-1) = \lambda n - \lambda = [\lambda n] + \varrho - \lambda$$

where  $0 \leq \varrho - \lambda < 1$ . Hence  $[\lambda(n-1)] = [\lambda n]$ , and consequently (ii) holds. – Finally, if  $\varrho < \lambda$ , then, by (3),

$$(1-\lambda)n = n - [\lambda n] - \varrho = n - 1 - [\lambda n] + 1 - \varrho = n_\lambda + 1 - \varrho$$

where  $n_\lambda = [(1-\lambda)n]$ . Therefore,

$$(1-\lambda)(n-1) = (1-\lambda)n - (1-\lambda) = n_\lambda + (1-\varrho) - (1-\lambda) = n_\lambda + \lambda - \varrho$$

where  $0 < \lambda - \varrho < 1$ . Hence  $[(1-\lambda)(n-1)] = [(1-\lambda)n]$  and so (iii) holds.

*Proof of Theorem 2.* Let

$$A_n(\lambda) = \sum_{k=[\lambda n]+1}^n a_k$$

and let  $\xi \in (0, 1)$  be irrational. Since the sequences  $(A_n(\xi))$  and  $(A_n(1 - \xi))$  converge to finite limits, they are Cauchy sequences. Hence there exists  $N_{\varepsilon, \xi}$  such that for  $n > N_{\varepsilon, \xi}$  we have  $|A_n(\xi) - A_{n-1}(\xi)| < \varepsilon$  and  $|A_n(1 - \xi) - A_{n-1}(1 - \xi)| < \varepsilon$ . Since  $\xi$  is irrational,  $[\xi n] \neq \xi n$  and, consequently, by the previous lemma, we know that either (ii)  $[\xi n] = [\xi(n - 1)]$  or (iii)  $[(1 - \xi)n] = [(1 - \xi)(n - 1)]$  is true. In the first case, we have

$$|a_n| = \left| \sum_{k=[\xi n]+1}^n a_k - \sum_{k=[(n-1)\xi]+1}^{n-1} a_k \right| = \left| A_n(\xi) - A_{n-1}(\xi) \right| < \varepsilon.$$

In the second case, we have

$$|a_n| = \left| \sum_{k=[n(1-\xi)]+1}^n a_k - \sum_{k=[(n-1)(1-\xi)]+1}^{n-1} a_k \right| = \left| A_n(1 - \xi) - A_{n-1}(1 - \xi) \right| < \varepsilon$$

Thus, for  $n > N_{\varepsilon, \xi}$  we have  $|a_n| < \varepsilon$  and the theorem is proved.

I am deeply grateful to Professor R. Bojanic for his suggestions and guidance throughout the writing of this paper.

Rada Higgins, Ohio State University Columbus, USA

#### REFERENCE

- [1] R. BOJANIC, E. SENETA, *A Unified Theory of Regularly Varying Sequences*, Math. Z., to appear.

## Elementarmathematik und Didaktik

### Ein reduziertes Erzeugenden-System der Kongruenzgruppe in der Ebene

#### 1. Die Gruppe der Kongruenz-Abbildungen der Ebene

Unter einer *Isometrie* oder *Kongruenz-Abbildung*  $\gamma$  in der Ebene versteht man das Produkt aus endlich vielen Geraden-Spiegelungen. Bezeichnet  $\sigma_g$  die Spiegelung an der Geraden  $g$ , dann ist also

$$\gamma = \sigma_a \circ \sigma_b \circ \sigma_c \circ \dots \circ \sigma_n. \quad (1)$$

Die Achsenspiegelung ist eine involutorische Abbildung; wird die Bildfigur einer gegebenen Urfigur an der gleichen Achse gespiegelt, so ergibt sich wieder die Urfigur. Das Produkt jeder Spiegelung mit sich selbst ist daher die *identische Abbildung*  $\iota$ , die jeden Punkt der Ebene auf sich selbst abbildet:

$$\sigma_a \circ \sigma_a = \iota. \quad (2)$$

Hieraus folgt, dass die Kongruenz-Abbildung  $\gamma$  nach (1) eine *inverse Abbildung*  $\gamma^{-1}$  besitzt:

$$\gamma^{-1} = \sigma_n \circ \dots \circ \sigma_c \circ \sigma_b \circ \sigma_a. \quad (3)$$

In den Produkten  $\gamma \circ \gamma^{-1}$  und  $\gamma^{-1} \circ \gamma$  sind nämlich Produkte von je zwei gleichen Spiegelungen vorhanden, die man wegen (2) jeweils streichen kann. Man erhält dann schliesslich

$$\gamma \circ \gamma^{-1} = \iota \quad \text{und} \quad \gamma^{-1} \circ \gamma = \iota. \quad (4)$$